












Which number will replace the question mark ?

(A) 56 (B) 32
(C) 48 (D) 72

12 8 4

8 4 12

4 12 8

100 44 ?



If (-) stands for division, (+) for multiplication, (÷) for subtraction and (×) for addition, 
which one of the following answers is correct to the given equation?
यदि (-) दिभाजन के दिएखडा है, (+) गुणन के दिए, (and) घटाि के दिए (और) इसके
अिािा, (×), दनम्नदिखखत में से कौन सा उत्तर दिए गए समीकरण के दिए सही है?

4 × 64 - 8 ÷ 4 + 2 = ? 

1. 4 
2. 6 
3. 8 
4. 1
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Arrange the given words in the alphabetical order.

1. Inadequate
2. Institution
3. Inhospitable
4. Improvement
5.Incompetent

(a) 4, 2, 3, 5, 1
(b) 4, 1, 3 , 5 , 2
(c)  4, 1, 5 , 3 , 2 
(d) 4, 1, 5, 2 , 3



Find the option which should replace (?)
10 + 7 = 12

25 +  3  = 25

27 + 8  =

(A) 21

(B) 30 

(C) 39 

(D) 26



Bharat and Sapna are husband and Wife . Rohit and Bharat are 
brothers. Suresh is the father of Rohit . Sapna’s son is Krish . How is 
Krish related to Sauresh ?
भरतऔरसपना पदतऔर पत्नी हैं। रोदहतऔरभरत भाई हैं। सुरेश रोदहत

के दपता हैं। सपना का बेटा कृष है। कृष का संबंध सुरेश से कैसे है?
A. Son
B. Father
C. Uncle
D. Grandson



Which number will replace the question mark ?

(A) 860 (B) 1140
(C) 2880 (D) 3240



Find the Wrong term(?)

144 , 441, 100 , 225 , 400, 1444  

(A) 1444

(B) 225

(C) 400

(D) 441
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Find the  missing one (?)

54 : 41 :: 32 : ?

(A) 29

(B) 13

(C) 17
(D) 11
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Find the  missing one (?)

16 : 40 :: 20 : ?

(A) 29

(B) 21 

(C) 50 
(D) 60
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Find the option which should replace (?)

Medicine : Patient :: Education :  ?

ििा: रोगी :: दशक्षा:? 

(A) Teacher / अध्यापक
(B) School / सू्कि

(C) Student /छात्र

(D) Tuition / टू्यशन
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Find the  missing one (?)

6 : 21 :: 3 : ?

(A) 21

(B) 31 

(C) 61 
(D) 41
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Find the  missing one (?)

72 : 18 :: 56 : ?

(A) 24

(B) 22

(C) 20
(D) 41
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How many dots lie opposite to the face having three dots, when the given figure is 
folded to form a cube?

A. 2
B. 4
C. 5
D. 6
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Find the odd one out(?)

A. Torch / मशाल
B. Battery / बैटरी

C. Candle / मोमबत्ती

D. Lamp / दीपक


